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F1TH 473 488 961 S512| KFIES 11 13 24 10
m2TH 222 249 4n 228|KFHE 8 5 13 8
F3TH 494 490 984 494|| K F1EEr i 90 88 178 75
m4TH 631 601 1,232 610|KFF & 274 288 562 268
mS5TH 1,136 1,145 2,281 1,145|F51TH 19 19 38 15
1TH 899 928 1,827 891([F&2TH 24 15 39 19
2TH 323 320 643 94| KFEEF 92 108 200 92
+3TH 324 323 647 303(FH1TH 28 25 53 21
m1TH 360 342 702 342 RFRME 217 218 435 166
m2TH 834 858 1,692 857\ X#&1TH 25 17 42 21
m3TH 142 748 1,490 T4 KFFEE 114 96 210 80
RFEF 1,203 1, 064 2,267 1,037\ EE1TH 16 14 150 58
R1TH 798 177 1,575 19| FERE2TH 151 155 306 149
®2TH 175 852 1,627 T16|K=F 5 93 105 198 89
R3TH 126 685 1,411 663|| K =FF 5 73 16 149 83
®4TH 361 350 11 44| KFHEF 95 90 185 17
®5TH 521 511 1,032 500X F K fHE 86 18 164 n
#&81TH 988 1,069 2,057 1,015|% 1 %& 209 173 382 304
#e2TH 264 284 548 253||%k 2 & 303 340 643 373
Bm1TH 269 295 564 282||% 3 & 251 235 486 304
m2TH 343 321 664 318(|I%k 4 & 602 516 1,118 197
RFREFFE 198 193 391 171|[*% 5% 249 252 501 362
KF I3 253 258 511 2131k 6 & 150 139 289 169
RF T 979 981 1,960 699||% 7 & 1217 140 267 87
RFFE 1,110 1,078 2,188 881(FEAM 1 TH 351 368 9 332
RFMHBEN 508 493 1,001 366|(FRM 2TH 529 535 1,064 503
PN ) 203 195 398 182|1FZEHM3TH 213 204 417 195
ARFEERE 122 119 241 1M3(|1FHMA4TH 272 262 534 238
RFHEFFE 17 165 336 150

RFLEFH 1,242 1,224 2, 466 1,024

EEH1TH 441 473 914 394

ARFHERE 219 190 409 198

RFESHH 281 256 537 232

RFHEARN 296 210 566 247

KRFKRIL 184 163 3417 147

RF2EHH 569 506 1,075 480

RFHE 17 18 35 15

RFTFHNHA 112 91 203 91

AFEFHH 85 75 160 67

RFETEH 182 205 387 190

RFHEEE 64 60 124 55 B 24,654) 24,347 49,001 23, 291




